ANl ol &b A Al A
20179 = =0l& e A
& 500 2=
2 510 =02x3S
g: 511 = 1EX=SS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
= Al 51,500 9,266 42,234
500 EX3 51,500 9,266 42,234
510 = DE X3S 40,500 7,128 33,372
511 =18x38 40,500 7,128 33,372
511-01 2 1EX=S 40,500 7,128 33,372
[ 23 ] 40,500 7,128 33,372
< AEMGA > 40,500 7,128 33,372
O™II SR 0K 28,000
O=z=di&itzd 10,000
O&™II0IEXR 0K 2,500
520 Al - SHIREXZZ3S 11,000 2,138 8,862
521 Al - EHIEXZS S 11,000 2,138 8,862
521-01 Al - THIEEXZ2S 11,000 2,138 8,862
[ el ] 11,000 2,138 8,862
< AEMEA > 11,000 2,138 8,862
O™II SR 0K 8,000
Osd&l2d 3,000
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A & 0l & AF 2 E A A
20179 = S0l& LB H AIEAMS A
M ANEAME
M Zoois AL 2
Chel: EStAlE2tel CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
INEEPNI=EN 3,098,964 2,095,339 1,003,625
= 40,500
< 11,000
s 3,047,464
Z 30l = Al & 2tel 328,009 221,959 106,050
F StAl & 2tel 328,009 221,959 106,050
Zsl=z 2 2922 129,371 77,036 52,335
101 124l 7,764 5,789 1,975
4 D122 E2EXNSEES 7,764 5,789 1,975
O2sto=sl2 Ea 51,760& = 150 7,764
201 £Br2%| 55,855 66,495 A 10,640
01 At 22l 12,760 9,600 3,160
o2ZEE 7Y 1,000
OAd=E &= 200,000& = 63l 1,200
O=2¢3 #F& 300,000& * 23 600
O &Hl A2l 320,000 * 123 3,840
OdEJI&Hl otd 2e| 260,000& = 12& 3,120
ORUFHIAIAYE |22l 250,000& ~ 128 3,000
02 2324l 43,095 56,895 A 13,800
OFSIIPNS=¥=3 1,500,000& * 12& 18,000
Ot MEE 1,000
Ogstzel Xt &3l 50
Oagortd &3t 45
odg Azl 2,000
OdEII&Hl sl 2,000
OA&ZEH ®Xdl 10,000
OZHE KAl 10,000
202 Od4dl 4,752 4,752 0
01 = LH o4 4l 4,752 4,752 0
OZsStANEE 22 g2F2 4,752
401 AIEHI L 201 61,000 0 61,000
01 A& HI 61,000 0 61,000
O2so=32 PUHEE WHIA 31,000
O2s0i=sl2 RO LSSA 17,000
O2stoli=sl2 ~22HHAE DHIA 13,000
MERSHEH 222 2,000 6,800 A 4,800
201 Let24d] 2,000 6,800 A 4,800
02 =24l 2,000 5,000 A 3,000
OA&ZH & A2 KX 2,000
St2AL 2 & A2 222 29,076 17,924 11,152




2M: Al

HAS A

HH: 2oz A2
CHe: S3AI A 22| (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
101 @121l 5,176 4,824 352
04 JI2ZtH2Z2XNHEE 5,176 4,824 352
Ot A IS EAI2 22| & HA
51,760& * 100 5,176
201 Bt A | 15,400 13,100 2,300
01 AP 22l Yl 5,600 3,300 2,300
Ost2A S EAIS EE2 HE
1,000& * 1,00074 1,000
O2g9Es #¢ 1,000
OANdE &= 200,000& = 63| 1,200
ORAHANAE KXY 200,000& * 12& 2,400
02 3294l 9,800 9,800 0
ONIIe=2 300,000& « 12& 3,600
O3 100,000& * 12& 1,200
OANEEH ¥ HE2 X HI 5,000
401 Al HI L 20| 8,500 0 8,500
01 A& bl 8,500 0 8,500
OO0tARU &EX SAk 5,000
OCHWHEXE & X ZBA 500,000& * 704 3,500
StHAXEe 2 22| 108,000 96,000 12,000
307 QI2t01 ™ 96,000 96,000 0
05 It E = 96,000 96,000 0
OstXME =2 Ee82d 96,000
401 Al HIL 201 12,000 0 12,000
01 Al &bl 12,000 0 12,000
OSHXNME =22 QeEE8s L SR At 12,000
SSAA gt=2 22 59,562 24,199 35,363
101 @121l 8,282 7,719 563
04 JI2ZtH2Z2XNHEE 8,282 7,719 563
Osganesa d3a L SF Y
51,760& * 160 8,282
201 Bt A | 37,280 16,480 20,800
01 AP 22l Yl 27,280 8,480 18,800
OsgaMEs2 =22 H& 3,000
OR=28Itf s &Y 4,800
O2g9EE #¢ 1,000
OAN&EE 45 200,000& = 63| 1,200
OREsas22 650,000& * 123l 7,800
Ode|Hiole ot 2tel 150,000& = 12& 1,800
OAagAld otX 2t 240,000& « 12& 2,880
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M ALY A

g 2 AL 2e

Chel: 2ZALEE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

03 A F=XH R =ZH| 1,200 1,200 0
OZZXAHGRFA 1,200

206 M= Hl 8,000 8,000 0

01 M2 4l 8,000 8,000 0
OSBRI =sXH + 8,000

401 AIEHI L 20HEI 160,000 73,000 87,000

01 A& Hl 160,000 73,000 87,000
O &5 Bi=XIAlE 22 & B 160,000

JIEt Al 2 2tel 50,141 0 50, 141

101 @124 Hl 4,141 0 4,141

04 DIt Z2XREES 4,141 0 4,141
OJtote d4 =g 51,760& » 80 4,141

201 Let2d] 16,000 0 16,000

01 At 22l 1,000 0 1,000
OFax & AMES ¢ 1,000

02 =224l 15,000 0 15,000

Oz= ¥ AIZ&EH sX4

5,000,000& * 304 15,000

401 Al HI K 201 I 30,000 0 30,000

01 A& HI 30,000 0 30,000
OXZUSIUE D0 & ESAME EXSA 30,000

HMESAE2Fetel 451,627 657,522 A 205,895

HMSAE 2el 443,839 649,910 A 206,071

2etHsdE 2e 113,794 114,594 A 800

201 ¢er24l 100,294 101,094 A 800

01 At 22/l 21,610 21,610 0
OFAEE % ?MEE ¢ 3,000
OEXE NE 100,000& * 53] 500
OoM=s83 #¥ 500
O£l M2 1,000
O=2¢3 #& 500,000& * 23 1,000
OAd=E &= 300,000& = 53] 1,500
OLelHIOIE HIIZA =2 150
Osg&dl 2el 1,000
ORBHIAAE KXY 200,000& = 12& 2,400
Odeldiole ot 2e| 180,000& * 123 2,160
OdEJI &l otd el 350,000& = 12& 4,200
OAg&Hl KX 350,000& » 12& 4,200

02 2324l 78,684 79,484 A 800




2M: ANEAMS
=

EN
3 MEANE=29Y

]
m

9 MSAE 2 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Oagdtotd™ &3l 36
Ooggt&e| X+ &3lbl 48
Oatele= AIE2 300,000& = 12& 3,600
ONIIMNES 4,000,000& * 12& 48,000
oY KX 12,000
OMSAA 22 &H S| 2,000
Od=E |4l 5,000
OAI& &H| X4 6,000
ollusa& &CE4A 2,000
206 M = Hl 5,000 5,000 0
01 & bl 5,000 5,000 0
(OFSE= < R--PNDV Bl 5,000
401 Al H L 2T 8,500 8,500 0
01 Al& Bl 8,500 8,500 0
OSSHMSUE ®Ilgy 24 5,000
OBY M2 3,500
WUAEE2SE 22 64,859 65,459 A 600
201 YEr2 2t 59,859 60,459 £600
01 AFR2 2t 2l dl 17,959 17,959 0
ONsE8 #*d 1,000
O&FA 4 AMEs 2 1,500
OAN&EZE A S 200,000& * 53] 1,000
O=283 34 400,000 * 23| 800
QiliESEg2sd 22X JUas 7,500
ORFHAAE RXH| 176,000& * 12& 2,112
O&™I|I &Y o™ 2tel 137,200& * 128 1,647
Oagtdd] A2l 200,000& « 12& 2,400
02 35249t 41,900 42,500 A 600
Ofsle+== ME2 125,000& * 128 1,500
O&IIMNES 1,200,000& = 12& 14,400
OA&E &Yl KXl 10,000
Od=2 KAl 10,000
OMESAE 22 HH KSF4 3,000
OMSAA 22 &Y S| 3,000
206 TH 2 HI 5,000 5,000 0
01 M= bl 5,000 5,000 0
OrsIERINSAHNM +L 5,000
HOIE=E =2 6,900 6,900 0
201 LEr2 Y| 6,900 6,900 0
02 352494l 6,900 6,900 0




M ALY A
M MSAE2E 2

EHelr MsAIE 2el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O&IIANEZ 300,000& = 12& 3,600
O&ot+=& MEZ 150,000& * 12& 1,800
OA&EHl Sl 1,500
ST E 22 25,600 277,400 A 251,800
201 L2l 20,600 22,400 A 1,800
01 At 22l 600 1,800 A 1,200
OFA L MEE Y 600
02 8323l 20,000 20,600 A 600
Oz 13,200
=3 400,000& » 128 4,800
-&42E 300,000& = 12& 3,600
2% &4 400,000&  12&€ 4,800
OA&ZEH ®Xdl 5,000
O&dt=& MEE 150,000& * 12& 1,800
206 24 5,000 5,000 0
01 T2l 5,000 5,000 0
OSBRI =sXH + 5,000
HEYETEDA 22 15,041 14,760 281
101 @124l 4,141 3,860 281
M4 JI2ZHZEXNSES 4,141 3,860 281
O3dE=3a &Z &l 51,760& = 80 4,141
201 L2l 9,900 9,900 0
01 At 22l 500 500 0
OFA ¥ /AME S 500
02 =224l 9,400 9,400 0
OFSPIPNE=3=4 200,000& = 12& 2,400
Od = dl 1,000
OdE KAl 1,000
OA&EHl Sl 5,000
206 TH 2 Hl 1,000 1,000 0
01 =8l 1,000 1,000 0
OSBRI s 1,000
HEAE |FX2el 45,883 41,209 4,674
101 @14l 34,939 32,569 2,370
M4 JI2ZHZEXNSES 34,939 32,569 2,370
OMSAE E4 51,760& = 552¢ 28,572
OMsSAE Hx & &X 55,640 * 40 2,226
OdHALE 3 & 51,7603 = 80 4,141

202 o4 Hl 10,944 8,640 2,304




M ALY A
M MSAE2E 2

S MFAIE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 10,944 8,640 2,304
OMSAE 22 =8 10,944
N33 2el 9,680 7,680 2,000
201 LBt 9,680 7,680 2,000
02 2324l 9,680 7,680 2,000
Oust M=3& 7,680
&g 375,000& = 12& 4,500
=5z 265,000& = 12& 3,180
OA&ZEbEl |Xdl 1,000
o= &4 1,000
sy 2el 10,600 35,600 225,000
201 et 10,600 10,600 0
02 2324l 10,600 10,600 0
OFSPIN=3 400,000& = 12& 4,800
O=&& 150,000& * 12& 1,800
OA&ZEH ®Xdl 4,000
sUl WAL 2tel 3,106 2,895 211
101 @124l 3,106 2,895 211
04 D12t Z22EE = 3,106 2,895 211
OXMSAE F# 2 A2y
51,760& = 4% = 15¢ 3,106
SUMSAEH 2tel 83,376 83,413 VANCYS
101 14l 8,282 7,719 563
04 JIZtHZ22HEE = 8,282 7,719 563
OM=SAE 34 51,7603 = 2% = 80¢ 8,282
201 £B-2dH| 70,094 70,694 A 600
01 At 22l 19,810 19,810 0
OHA U AMBE 29 3,000
OM=838 #¢ 1,000
OANEE &5 300,000& * 43 1,200
Os83 34 500,000& * 43 2,000
OdelHIOIE BIIZEA ==&
150,000& * 13l 150
OZAIIJtA EIIHAL === 100,000& * 13/ 100
O&EII&Hl erd el 350,000 * 123 4,200
OA&Hl |A2eldl 280,000& = 123 3,360
ORFHIAIAY KX 2l
220,000& = 123 2,640
OdelHliole et 2tetl 180,000& * 123 2,160
02 2324l 50,284 50,884 A 600




M ALY A
M MSAE2E 2

S MFAIE 2el (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIIANER 2,000,000 * 12& 24,000
Odot=EAMER 300,000& = 12& 3,600
OAetEE 23| 36,000& * 13 36
Ogstel Xt E3altl 48,000& = 13l 48
OZAIJIAAMNER 1,000,000& * 12& 12,000
OA& &8l X bl 10,000
Oolgu & 2dBtdEst At2=Z 50,0008 » 128 600
206 M= Hl 5,000 5,000 0
01 T2l 5,000 5,000 0
OFBASK P 5,000
MSE ANEHE=> 65,000 0 65,000
401 A& HIZ 201 8] 65,000 65,000
01 Al gl 65,000 65,000
O=22& AN&EH 65,000
-2 A 30,000
-HE WA 2,500,000& = 404 10,000
—& BHOH 2,500,000& * 404 10,000
-& 3 2,500,000 * 204 5,000
-AREHA 5,000
-HEH 2eiEd 5,000
HM=EAd 22 € 2 7,788 7,612 176
sUXSAME 2 7,788 7,612 176
101 124 dl 2,588 2,412 176
4 D12t Z2XREES 2,588 2,412 176
O&3ax02Y 51,760& = 50 2,588
201 YEtS | 4,000 4,000 0
02 232gHl 4,000 4,000 0
OA&ZEHl |Xdl 1,000,000& * 400 2 4,000
206 TH 2 Ul 1,200 1,200 0
01 M= 4l 1,200 1,200 0
OXEER ISP 1,200
S2HI2Fetel 1,403,571 571,896 831,675
= 40,500
< 11,000
e 1,352,071
MBS AL 222 1,403,571 571,896 831,675
= 40,500
< 11,000
e 1,352,071
d24 sy 22 889,094 481,088 408,006
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Off &t 24

198,889
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170,808
28,081
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51,600

2,400
960
10,000
10,000
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6,240
4,000
3,000
233,605
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1,440
1,200
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250
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E
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X ZH -
L= B

el

> 0 >

ov 09 mx
e
o

o
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0>
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2l

=
X
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nx 08
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el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OANEZEEISXH(CI2E 2B, =D, E2
2, #eldl, 850 S) 1,000,000& 128 12,000
OFACX AlEK XYl 30,000
Odx=22te| | 150,000& = 2CH ~ 12& 3,600
OS2 EY K= XAl 60,000& = 23| 120
Ost2Ed KA 700,000& = 12& 8,400
O32EH B 800,000& * 23] 1,600
OFACX o el gl 350,000& = 12& 4,200
OFSX H=I| @l 150,000& = 128 1,800
O0E0l =0lAld HI| AHXHBA =2
500,000& = 20 A 1,000
O&IIXsx B8€& 800,000& = 2CH 1,600
O&II0IEX BEE 300,000& = 2CH 600
O&IN XS K A= XA 400,000& = 204 800
O&EI|0IZEX K= XA 150,000& = 204 300
O&™EII X KXl 400,000€ * 12€ 4,800
03 S AIS H H| 4,000 0 4,000
Ostetol O|HIE SH AL 2,000,000& = 23| 4,000
206 M = Hl 20,000 25,000 25,000
01 X bl 20,000 25,000 25,000
OrEARI=s XMHFL 20,000
305 HAa=2S 2,400 2,400 0
01 HIMNSS 2,400 2,400 0
OFSAANE Ol CHEAILD Y 2HA Q|22 B
s B2 200,000 = 12& 2,400
401 Al HI YL 2 0HHI 350,000 60,000 290,000
01 A& HI 350,000 60,000 290,000
OFACX AIE82 HEXa 15,000
O AZa=2 &X 10,000
O 2443 WH(Es9E 3, 22
8) 60,000
Ost=sHE2 HEgsA &X 20,000
O =2 85 &X 4,000
O A8HIAIE &X 30,000
OFACX JtE2s F=IF &1 13,000
O 28 &X 50,000,000& * 32| 150,000
OMHZSE EHUI+2 &X ¥ &I 25,000
Osg2 = 240 2z &X 10,000
Ox=H&EAlI2 OHLEN A X 7,000
Osxa B A% 6,000
405 Ko SHI 28,600 19,200 9,400
01 At = S FSHI 28,600 19,200 9,400




INE=DN=EN
S r 292
NYESAL 2B CREED
- _ _ RE]
N X8-S (3H) - MEAY - B gﬁ‘&i HR=2
O Xidtet & e 500,000 = 404 2,000
OdHED 600,000 = 1CH 600
oAz 1,000,000 = 1CH 1,000
O2g& HS&II 4,500,000& = 1CH 4,500
OMIOILLA JHBIR 250,000 = 2CH 500
=0 =g & 3,000,000& = 3K 9,000
Ox=&AZH 500,000 = 1004 5,000
ogd & Hol= 3,000
OAIANS 1,500
oxcs 1,500
A MEjE 2 45,762 15,900 29,862
101 2121 4| 36,162 0 36, 162
04 JIZtHI22XNSE S 36, 162 0 36, 162
OMEfE S =oladdb JI2tH 18
51,760& = 28 x 300& 31,056
O4BE = A= 222
31,056,0002 * 16.44% 5,106
201 2Et2A Y| 3,600 15,900 A 12,300
01 AP 22| d| 3,600 15,900 A 12,300
OFGE A MEfm & F2ZHIHAIE 2223
2 300,000 = 128 3,600
206 M = H| 6,000 0 6,000
01 X2 H| 6,000 0 6,000
OMEIES2 HE s 2
600,000 ~ 10€ 6,000
MNEEFESA2 2Y 6,000 ,600 2,400
201 Bt 6,000 ,600 2,400
01 AP 22| H| 6,000 ,600 2,400
Ottgl2gs2da 228 7Y
500,000& = 12€ 6,000
StsxEad 29 10,659 ,000 A\ 341
201 gBt24d| 4,659 ,000 N6,341
01 AP 2t 2| H| 4,659 ,000 N6,341
OstsHE2 HEXNE 2=
51,760& * 1 x 90 4,659
206 M 2 dl 6,000 0 6,000
01 =4l 6,000 0 6,000
Ost=xega MEegMs 22 600,008 = 108 6,000
HEA MEHZ2Y 29 283,349 39,252 244,097
101 Q124 H] 189,849 16,852 172,997
04 JI2ZtHIZ2 2 NEES 189,849 16,852 172,997
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M ANEAME
M A2 2t
CHelr MEBRYANM 2B (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HdIIXsA s8I 2t 15 4,000 0 4,000
401 Al I 2 O8I 4,000 0 4,000
01 A& Bl 4,000 0 4,000
O&IIXESX SHelZe 25 4,000
SN E=DN | 90,000 0 90,000
= 28,000
< 8,000
i 54,000
405 XHoHF S HI 90,000 0 90,000
= 28,000
< 8,000
i 54,000
01 AL EFFH S 90,000 0 90,000
O&II X=X 204 45,000,000& = 204 90,000
= 28,000
< 8,000
s 54,000
HII0IEX 04 7,660 0 7,660
= 2,500
s 5,160
405 TtHobF S| 7,660 0 7,660
= 2,500
s 5,160
01 AL EFH S 7,660 0 7,660
O&EII0IEX 04 3,830,000& = 2CH 7,660
= 2,500
s 5,160
=ditzg 20,000 0 20,000
= 10,000
S 3,000
s 7,000
101 1A Hl 17,000 0 17,000
= 8,500
< 2,550
s 5,950
04 JIZHHZ2XEE S 17,000 0 17,000
=04t ¢ 17,000
= 8,500
< 2,550
s 5,950
201 Let2dE] 2,000 0 2,000
= 1,000
< 300
e 700
01 At 22l 2,000 0 2,000
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